
 

                                                        

Active & Passive Voice  

 
 

 

 

 
 

 

 

 

 

 

 

Concept – Passive of Tenses 

okD; 

(Sentence) 

Active 

Voice / 

Passive 

Voice 

Explanation 

eSa tk jgk gw¡A Active Voice 
Subject gS ÞeSaÞ tks fØ;k dks dj jgk gSA fØ;k gS ÞtkukÞA pw¡fd 

Subject fn;k x;k gS blfy, ;g Active Voice gSA 

eq>s Hkstk tk jgk gSA 
Passive 

Voice 

eq>s Hkstk tk jgk gS fdlh ds }kjkA ij dkSu Hkst jgk gS] ;s ugha crk;k 

x;kA tks eq>s Hkst jgk gS ogh rks Subject gSA 

bl okD; esa Subject ugha fn;k x;k gS blfy, ;g Passive 

Voice gSA 

eq>s jke ds }kjk Hkstk tk 

jgk gSA 

Passive 

Voice 

tks eq>s Hkst jgk gS oks gS jke ;kfu Hkstus dh fØ;k dks jke dj jgk 

gSA blfy, jke Subject gSA 

bl okD; esa Subject fn;k rks x;k gS ij Þ}kjkÞ ds lkFk iz;ksx 

fd;k x;k gS blfy, ;g Passive Voice gSA 

gesa crk;k x;k FkkA 
Passive 

Voice 

gesa crk;k x;k Fkk fdlh ds }kjkA ij dkSu crk jgk gS] ;s ugha crk;k 

x;kA tks gesa crk jgk gS ogh rks Subject gSA 

bl okD; esa Subject ugha fn;k x;k gS blfy, ;g Passive 

Voice gSA 

jke dks ihVk tk;sxkA 
Passive 

Voice 

jke dks ihVk tk;sxk fdlh ds }kjkA ij dkSu ihVsxk] ;s ugha crk;k 

x;kA tks jke dks ihVsxk] ogh rks Subject gSA 

bl okD; esa Subject ugha fn;k x;k gS blfy, ;g Passive 

Voice gSA 
 

Active Voice esa os okD; gksrs gSa ftuesa Subject Hkh fn;k gksrk gS o Subject ds }kjk fd;s x;s dk;Z dk 

Hkh o.kZu gksrk gSA os lHkh okD; tks geus “Tense” pSIVj esa i<+s Fks] lHkh Active Voice esa ekus tkrs gSaA 

 

Passive Voice esa os okD; gksrs gSa ftuesa fØ;k rks gksrh gS ij ;k rks okD; esa Subject dk ftØ gh ugha 

gksrk vkSj vxj ft+Ø gksrk Hkh gks rks ,sls okD;ksa esa Subject ds lkFk Þ}kjkÞ dk iz;ksx fd;k tkrk gSA 

 
vkb, foLrkj ls le÷ksaA vkWfM;ks ySDpj dks Hkh t+#j lqusaA 

Let‟s understand in detail. Do listen to audio lecture as well.  

 
 

 

There are two voices of the Tense Sentences:  1) Active Voice  2) Passive Voice 

 
pfy,] uhps fn, x;s mnkgj.kksa ls le>rs gSa & 

Let‟s understand with the help of following examples – 

 



 

eSaus [kkuk [kk fy;k gSA Active Voice 
Subject gS eSa tks fØ;k dks dj pqdk gSA fØ;k gS Þ[kkukÞA 

pw¡fd Subject fn;k x;k gS blfy, ;g Active Voice gSA 

mls iwNk x;kA 
Passive 

Voice 

mls iwNk x;k fdlh ds }kjkA ij fdlus iwNk] ;s ugha crk;k x;kA 

ftlus iwNk] ogh rks Subject gSA 

bl okD; esa Subject ugha fn;k x;k gS blfy, ;g Passive 

Voice gSA 
 

;s igpku djuk cgqr t+#jh gS fd okD; Active Voice esa gS ;k Passive Voice esaA 

It‟s vital to recognize whether the sentence is in active voice or in passive voice. 

 

vxj Active Voice esa gS rks Tense ds fglkc ls helping verb yxkb,A tSlk vkius Tense ds pSIVj esa 

i<+k gSA vxj Passive Voice esa gS rks helping verb uhps Vscy ds fglkc ls gh yxkb,A vkSj ,d cgqr 

t+#jh ckr ;s gS fd Passive Voice esa ges‛kk Verb dh 3rd form dk gh iz;ksx gksrk gSA 

 

If the sentence is in active voice, then you need to simply follow the rules taught in „Tenses‟ 

chapter. If in passive voice, then the helping verbs are to be used exactly the way written in 

the table below. Also note that in passive sentences, 3rd form of the verb is to be used. 
 

 

 

 

Tense 

Active Voice 

(AV) 

Helping Verbs 

Passive 

Voice (PV) 

Helping 

Verbs 

Present Indefinite 

(rk] rs] rh) 
Do, Does Is, Am, Are 

Present Continuous 

(jgk gS] jgh gS] jgs gSa) 
Is, Am, Are 

Is, Am, Are + 

being 

Present Perfect 

(pqdk gS] pqdh gS] pqds gSa] fy;k gS] fn;k gS] yh gS] nh gS] dh gS) 
Has, Have 

Has been, 

Have been 

Present Perfect Continuous 

(  jgk gS] jgh gS] jgs gSaA le; ds lkFk ls dk iz;ksx) 

Has been, Have 

been 
- 

Past Indefinite 

(vk;k] x;k] fy;k] fn;k] yh] nh] dh) 
Did Was, were 

Past Continuous 

(jgk Fkk] jgh Fkh] jgs Fks) 
Was, Were 

Was, Were + 

being 

Past Perfect 

(pqdk Fkk] pqdh Fkh] pqds Fks] fy;k Fkk] fn;k Fkk] yh Fkh] nh Fkh] dh Fkh) 
Had Had been 

Past Perfect  Continuous 

( jgk Fkk] jgh Fkh] jgs FksA le; ds lkFk ls dk iz;ksx) 
Had been - 

Future Indefinite 

(xk] xs] xh) 
Will Will be 



 

Future Continuous 

(jgk gksxk] jgh gksxh] jgs gksaxss) 
Will be - 

Future Perfect 

(pqdk gksxk] pqdh gksxh] pqds gksaxs] fy;k gksxk] fn;k gksxk] yh 

gksxh] nh gksxh] dh gksxh) 

Will Have Will have been 

Future Perfect  Continuous 

( jgk gksxk] jgh gksxh] jgs gksaxssA le; ds lkFk ls dk iz;ksx) 
Will have been - 

 

pkj ,sls Tense gSa ftuds Passive Voice ugha gksrs & 

There are four tenses that don‟t have their passive voices – 

1. Present Perfect Continuous Tense 

2. Past Perfect Continuous Tense 

3. Future Continuous Tense 

4. Future Perfect Continuous Tense. 

Examples: 

 
okD; 

Sentences 
Tense igpkfu, 

Identify the Tense 

Active/ 

Passive 

vuqokn 

Translation 

eq>s Ldwy Hkstk x;kA Past Indefinite Passive I was sent to school. 

jke dks crk;k x;k gSA 

ikik dks cqyk;k tk;sxkA Future Indefinite Passive Dad will be called. 

eSaus lkspk FkkA Past Perfect Active I had thought. 

rqEgkjk uke D;ksa fy;k tk jgk gS \ Present Continuous Passive 
Why is your name 

being called? 

mls fnYyh esa ns[kk x;kA Past Indefinite Passive He was seen in Delhi 

cPpksa us iRFkj QsadsA Past Indefinite Active 
Children threw the 

stones. 

mls Mk¡Vk tk jgk FkkA Past Continuous Passive He was being scolded. 

iRFkj Qsads tk,saxsA Future Indefinite Passive Stones will be thrown. 

gesa D;ksa Mk¡Vk tkrk gS \ Present Indefinite Passive Why are we scolded? 

D;k veu dks Hkstk x;k gksxk \ Future Perfect Passive 
Will Aman have been 

sent? 

 

 

Present Perfect Passive Ram has been told. 



 

;‛kh dks D;ksa cqyk;k x;k \ Past Indefinite Passive Why was Yashi called? 

ikik dks D;k dgk x;k gS \  Present Prefect Passive 
What has Dad been 

told? 

gesa bruk D;ksa ijs‛kku fd;k tk jgk 

gS \ 
Present Continuous Passive 

Why are we being 

bothered this much? 

eSaus D;k dgk Fkk \ Past Perfect Active What had I said? 

eq÷ks D;k dgk x;k Fkk \ 

Concept – Passive of Modals 
 

pfy,] uhps fn, x;s mnkgj.kksa ls le>rs gSa & 

Let‟s understand with the help of following examples – 
 

Sentence Active 

Voice / 

Passive 

Voice 

Explanation 

eSa tk ldrk gw¡A Active Voice 
Subject gS ÞeSaÞ vkSj fØ;k gS ÞtkukÞA pw¡fd Subject fn;k 

x;k gS blfy, ;g Active Voice gSA 

eq>s Hkstk tk ldrk gSA 
Passive 

Voice 

eq>s Hkstk tk ldrk gS fdlh ds }kjkA fØ;k gS ÞHkstukÞA ij dkSu 

Hkst ldrk gS] ;s ugha crk;k x;kA tks eq>s Hkst ldrk gS ogh rks 

Subject gSA  

bl okD; esa Subject ugha fn;k x;k gS blfy, ;g Passive 

Voice gSA 

eq>s jke ds }kjk Hkstk tk 

ldrk gSA 

Passive 

Voice 

tks eq>s Hkst ldrk gS oks gS jke ;kfu Hkstus dh fØ;k dks jke dj 

ldrk gSA blfy, jke Subject gSA  

bl okD; esa Subject fn;k rks x;k gS ij Þ}kjkÞ ds lkFk iz;ksx 

fd;k x;k gS blfy, ;g Passive Voice gSA 
 

 

;s igpku djuk cgqr t+#jh gS fd okD; Active Voice esa gS ;k Passive Voice esaA 

It‟s vital to recognize whether the sentence is in active voice or in passive voice. 
 

vxj Active Voice esa gS rks Modal ds fglkc ls helping verb yxkb,A tSlk fd vkius Modal 

pSIVj esa i<+k gSA ij vxj okD; Passive Voice esa gS rks vkidks flQZ bruk djuk gS fd ftu modals ds 

lkFk fØ;k dh QLVZ QkeZ yxrh gS tSls can, could, should, must, may, might, has to, 

have to, had to, will have to, would like to vkfn] muds lkFk „be‟ yxk nsuk gS vkSj ftu 

modals ds lkFk fØ;k dh FkMZ QkeZ yxrh gS tSls could have, should have, must have, 

may have, might have vkfn] muds lkFk „been‟ yxk nsuk gSA uhps Vscy ds ek/;e ls lef>,A vkSj 

,d cgqr t+#jh ckr ;s fd Passive Voice esa ges‛kk Verb dh 3rd form dk gh iz;ksx gksrk gSA 

 

Past Perfect Passive What had I been said? 

 



 

If the sentence is in active voice, then you need to simply follow the rules taught in „Modals‟ 

chapter. If in passive voice, then what you have to do is: the modals which use 1st form of the 

verb like can, could etc, you have to just add „be‟ with them in passive voice and the modals 

which use 3rd form of the verb like could have, should have etc, you have to add „been‟ with 

them. Let‟s understand with the following table: 

Also to be noted that you have to always use the 3rd form of the verb in passive voice 

sentences. 

 

Sentence Modal 

Active/ 

Passive 

Voice 

Translation Explanation 

eq>s Hkstk tk 

ldrk gSA 
Can 

Passive 

voice 
I can be sent. 

can ,d ,slk modal gS ftlds lkFk fØ;k dh QLVZ 

QkeZ yxrh gS blfy, Passive voice esa can ds 

lkFk be yxk nsaxsA 

 

We use 1st form of the verb with „can‟ 

that‟s why in passive voice, we‟ll use 

„be‟ with „can‟. 

jke dks iSls 

fn, tkus 

pkfg,A 

Should 
Passive 

voice 

Ram should be 

given money. 

should ,d ,slk modal gS ftlds lkFk fØ;k dh 

QLVZ QkeZ yxrh gS blfy, Passive voice esa 

should ds lkFk be yxk nsaxsA 

 

We use 1st form of the verb with 

„should‟ that‟s why in passive voice, 

we‟ll use „be‟ with „should‟. 

cPpksa dks i<+k;k 

tk ldrk FkkA 

Could 

have 

Passive 

voice 

Children could 

have been 

taught. 

Could have ,d ,slk modal gS ftlds lkFk 

fØ;k dh FkMZ QkeZ yxrh gS blfy, Passive 

voice esa could have ds lkFk been yxk nsaxsA 

 

We use 3rd form of the verb with „could 

have‟ that‟s why in passive voice, we‟ll 

use „been‟ with „could have‟. 

rqEgsa vesfjdk 

Hkstk tkuk 

pkfg, FkkA 

Should 

have 

Passive 

voice 

You should 

have been sent 

to America. 

Should have ,d ,slk modal gS ftlds lkFk 

fØ;k dh FkMZ QkeZ yxrh gS blfy, Passive 

voice esa should have ds lkFk been yxk nsaxsA 

 

We use 3rd form of the verb with 

„should have‟ that‟s why in passive 

voice, we‟ll use „been‟ with „should 

have‟. 

vkt rqEgsa Ldwy 

esa fx¶V fn;k 

tkuk gSA 

Have to 
Passive 

voice 

You have to be 

given a gift in 

school today. 

Have to ,d ,slk modal gS ftlds lkFk fØ;k 

dh QLVZ QkeZ yxrh gS blfy, Passive voice esa 

have to ds lkFk be yxk nsaxsA 

 

We use 1st form of the verb with „have 

to‟ that‟s why in passive voice, we‟ll 

use „be‟ with „have to‟. 



 

Examples: 

Sentences 
Identify 

the Modal 

Active/ 

Passive 
Translation 

eq>s Ldwy Hkstk tk ldrk gSA Can Passive I can be sent to school. 

jke dks iwNk ldrk gS fd oks dgk¡ 

FkkA 
Can Passive 

Ram can be asked where he 

was. 

ikik dks cqyk;k tkuk pkfg,A Should Passive Dad should be called. 

rqEgsa fdrkc nh tkuh gSA Have to Passive You have to be given a book. 

mls Mk¡Vk tkuk pkfg, FkkA 
Should 

have 
Passive He should have been scolded. 

mls fnYyh cqyk;k tk ldrk FkkA Could have Passive 
He could have been called 

Delhi. 

gesa i<+k;k tkrk FkkA Used to Passive We used to be taught. 

gesa ugha i<+k;k tkrk FkkA Used to Passive We didn‟t use to be taught. 

D;k gesa i<+k;k tkrk Fkk \ Used to Passive Did we use to be taught? 

D;k gesa ugha i<+k;k tkrk Fkk \ Used to Passive Did we not use to be taught? 

 

Concept – Passive of Let 
Let ,d fØ;k gS blfy, ftl rjg geus Tense ds Passive Voice cuk;s Fks] Bhd mlh rjg cuk;saxsA 

  

bl pSIVj dks i<+us ls igys vkidks uhps fn;s x;s nksuksa pSIVj i<+s gksus pkfg, vkSj le> Hkh vkus pkfg,A 

1. Let 

2. Passive of Tenses 

fcuk ;s nksuksa pSIVj i<+s vkSj le÷ks vki bl pSIVj dks vPNh rjg ugha le> ik;saxsA 

pfy,] uhps fn, x;s mnkgj.kksa ls le>rs gSaA 

 

Sentence 

Active 

Voice / 

Passive 

Voice 

Explanation 

jke eq>s lksus nsrk gSA 
Active 

Voice 

Subject gS ÞjkeÞ tks fØ;k dks djus nsrk gSA izeq[k fØ;k gS Þdjus 

nsukÞ vkSj nwljh fØ;k ÞlksukÞA pw¡fd Subject fn;k x;k gS blfy, 

;g Active Voice gSA 

eq>s lksus fn;k tk jgk gSA 
Passive 

Voice 

eq>s lksus fn;k tk jgk gS fdlh ds }kjkA ij dkSu eq>s lksus dk dke 

djus ns jgk gS] ;s ugha crk;k x;kA tks eq>s bl dke dks djus ns 

jgk gS ogh rks Subject gSA  

bl okD; esa Subject ugha fn;k x;k gS blfy, ;g Passive 

Voice gSA 



 

 

lhrk us jke dks iwNus fn;kA Active Voice 

Subject gS lhrkA 

bl okD; esa Subject fn;k x;k gS blfy, ;g Active 

Voice gSA 

jke dks iwNus fn;k x;kA Passive Voice 

fdlus jke dks iwNus dk dke djus fn;k] ;s ugha crk;k x;kA 

Subject ugha fn;k x;k gSA blfy, ;g Passive Voice gSA 

vxj Subject fn;k Hkh tkrk rks dqN bl rjg ls fd Þjke dks 

lhrk ds }kjk iwNus fn;k x;kAÞ lhrk tks fd Subject gS mls 

Þ}kjkÞ ds lkFk iz;ksx fd;k tkrkA rc Hkh rks okD; Passive 

Voice gh gksrkA 

Sentences 
Identify the 

Tense 

Active/ 

Passive 
Translation 

eq>s Ldwy tkus fn;k x;kA Past Indefinite Passive I was let go to school. 

jke dks bXtS+e esa cSBus ugha fn;k 

x;k gSA 
Present Perfect Passive 

Ram has not been let sit in 

the exam. 

ikik dks vkus fn;k tk;sxkA Future Indefinite Passive Dad will be let come. 

mls [ksyus fn;k tk jgk FkkA Past Continuous Passive He was being let play. 

 

 

 
 

 

vxj okD; Active Voice esa gS rks okD;ksa dks mlh rjg ls cuk;saxs tSlk vkius „Let‟ pSIVj esa i<k FkkA 

vxj okD; Passive Voice esa gS rks helping verb mlh Vscy ds fglkc ls gh yxk,saxs tks Vscy vkius „Passive 

of Tenses‟ esa ns[khA 

vkidks crk;k tk pqdk gS fd Passive Voice esa ges‛kk Verb dh 3rd form dk gh iz;ksx gksrk gSA  

cl ;s /;ku jgs fd “Let” dh rhuksa forms “Let” gh gSaA 

 

Examples: 

 


